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Q1：	
  ‘’gloves”	
  belongs	
  to	
  the	
  property	
  named	
  “item”	
  of	
  the	
  second	
  element	
  of	
  the	
  array	
  receipt.	
  So	
  the	
  
answer	
  is	
  E.	
  

	
   	
  

	
  

Ex1:	
  	
  The	
  default	
  discount	
  for	
  items	
  is	
  0,	
  and	
  0.2	
  for	
  items	
  over	
  $50.	
  	
  We	
  write	
  every	
  object	
  in	
  a	
  format	
  
of	
  	
  “obj”,	
  and	
  then	
  use	
  result.push(obj)	
  to	
  add	
  them	
  into	
  the	
  array	
  named	
  “result”.
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Ex2:	
  	
  We	
  use	
  a	
  function	
  “helper”	
  to	
  help	
  us	
  find	
  the	
  cheapest	
  price	
  in	
  each	
  object	
  of	
  the	
  array	
  “receipt”.	
  
Then	
  similar	
  to	
  Ex1,	
  use	
  array	
  “result”	
  to	
  store	
  the	
  new	
  objects.

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  


